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vector<int> g/MAXN<<l1];
int node cnt;
int low|[MAXN!,dfs id[MAXN|,dfs t,bcc id/MAXN|,bcc cnt;
vector<int> bcc/MAXN];
stack<pair<int,int> >Stack;
bool iscut|/MAXN];
void dfs(int u,int fa
low/u|=dfs _idlu|=++dfs t;
blk sz++;
int child=0;
int i=head|u];1i;i=edge[i].next
int v=edgel|i|.to;
v==Fa :
ldfs idlv
Stack.push(make pair(u,v));
dfs(v,u);
low/u!=min(low|ul,low[Vv]);
low|v|>=dfs idlu
iscut|ul=true;
pair<int,int> temp;
bccl++bcc_cnt!.clear();
true
temp=Stack.top();Stack.pop();
bcc_id[temp.first]|!=bcc cnt
bcc_id[temp.first|=bcc cnt;
bccibcc cnt].push back(temp.first);
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bcc_id[temp.second]!=bcc cnt
bcc id|temp.second|=bcc_cnt;
bcclbcc cnt].push back(temp.second);

temp. first==u&&temp.second==v

’

node cnt++;/00000
int node id:bcc|bcc cnt
g/node cnt|.push back(node id);
g/node_id!.push back(node cnt);

child++;

dfs id[vi<dfs idlu
Stack.push(make pair(u,v));
low/u/=min(low|/ul,dfs idiv!|);

u==fa&&child<
iscut/ul=false;

void find bcc(int n
mem(dfs id,0);
mem(iscut,0);
mem(bcc_id,0);
dfs t=bcc cnt=0;
node cnt=n;
_rep(i,1,n

ldfs id[1i
dfs(i,i);
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const int MAXN=1e5+5,MAXM=2e5+5;
struct Edge
int to,next;
edge [ MAXM<<1];
int head MAXN|,edge cnt;
void Insert(int u,int v
edge| ++edge cnt|=Edge{v,head/u] };
head|u!=edge cnt;

vector<int> g/MAXN<<l1];
int node cnt,blk sz,val MAXN<<1]|;
int lLow/MAXN|,dfs id[MAXN|,dfs t,bcc id/MAXN|,bcc cnt;
vector<int> bcc|[MAXN];
stack<pair<int,int> >Stack;
bool iscut[MAXN];
void dfs(int u,int fa
low u/=dfs id|u|=++dfs_t;
blk sz++;
int child=0;
int i=head(u];i;i=edge[i].next
int v=edge([i].to;
v==fa ;
ldfs id|v
Stack.push(make pair(u,v));
dfs(v,u);
low/u/=min(low|ul,low|[Vv]);
low|v/>=dfs id[u
iscutiul=true;
pair<int,int> temp;
bccl++bcc _cnt!.clear();
true
temp=Stack.top();Stack.pop();
bcc_id|temp.first]|!=bcc_cnt
bcc id|temp.first|=bcc cnt;
bcclbcc cnt].push back(temp.first);
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bcc _id|temp.second|!=bcc_cnt
bcc id| temp.second|=bcc cnt;
bccibcc cnt].push back(temp.second);

temp. first==u&&temp.second==

’

val|++node cnti!=bcc|bcc cnt].size();
int node id:bcclbcc cnt
g/inode cnt|.push back(node id);
g/ node id|.push back(node cnt);

child++;
dfs id[v]<dfs id[u

Stack.push(make pair(u,v));
low/u!=min(low|u],dfs idiv]);

u==fa&&child<
iscut|u]|=false;

int sz/MAXN<<1];

LL ans;
void dfs2(int u,int fa
vallul==-1)szlul=1;
int v:glu
==fa ;
dfs2(v,u);

ans+=2LL*sz[ul*sz|v]*vallul;
szlul+=sz|v]:

ans+=2LL*sz|ul*(blk sz-sz|ul)*vallul;

void solve(int rt
blk sz=0;
dfs(rt,rt);
dfs2(rt,rt);

void find bcc(int n
mem(dfs id,0);
mem(iscut,0);
mem(bcc_id,0);
dfs t=bcc cnt=0;
node cnt=n;
_rep(i,1,n
val|il=-1;
_rep(i,1,n
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ldfs id[i
solve(i);

int main
int n=read _int(),m=read int();
m- -
int u=read int(),v=read int();
Insert(u,v);
Insert(v,u);

find bcc(n);
enter(ans);
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